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Seat No.: ________                                                           Enrolment No.___________ 

GUJARAT TECHNOLOGICAL UNIVERSITY 
Diploma Engineering - SEMESTER–III • EXAMINATION – SUMMER • 2014 

Subject Code: 3330901 Date: 11-06-2014        

Subject Name: A. C. Circuits 

Time: 10:30 am - 01:00 pm Total Marks: 70 
Instructions: 

1. Attempt all questions.  

2. Make suitable assumptions wherever necessary. 

3. Figures to the right indicate full marks.  

4. English version is considered to be Authentic. 

Q.1 (a) Explain advantages of A.C. system over DC system 07 

 (b) Explain the following terms: 

1) Instantaneous value 

2) Average value or mean value 

3) Power factor 

4) Phase difference or phase angle 

5) RMS value 

6) Frequency 

7) Form factor 

07 

    
Q.2 (a) Prove that in a purely resistive circuit, the current is in phase with applied 

voltage. 
07 

 (b) A resistor of  20 ohm, inductor of 0.2 H and capacitor of 100 µF are 

connected in series across 220V, 50 Hz I-ɸ A.C. supply. Calculate  

1) reactance 

2)  impedance 

3)  Power factor 

4) Current 

5) True power 

6) Reactive power 

7) Apparent power 

07 

  OR  

 (b) Prove that for I-ɸ pure resistive  circuit , power consumed is  P=I
2 

R. 07 

    
Q.3 (a) Give comparison between series resonance and parallel resonance. 07 

 (b) Explain phenomenon of parallel resonance. 07 

  OR  

Q.3 (a) An inductive circuit of resistance 2 ohm and inductance 0.01H connected to 

250V, 50Hz supply.what capacitance placed in parallel will produce 

resonance? Find the total current taken from the supply and the current in 

branch circuit. 

07 

 (b) Explain Q-factor with factors it depends. 07 

    
Q.4 (a) Explain advantages of 3-ɸ system over I-ɸ system. 07 

 (b) Derive the relationship between line and phase value of voltage and current in 

3-ɸ star connected system. Also derive the equation of power. 
07 

  OR  

Q. 4 (a) A star connected alternator supplies a delta connected load. The impedance of 

the load branch is (8+j6) ohm/phase. The line voltage is 230 V. Determine 

1) Current in the load branch 

2) Power consumed by the load 

3) Power factor of load 

4) Reactive power of the load 

07 
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 (b) Derive the relationship between line and phase value of voltage and current in 

3- ɸ delta connected system. Also derive the equation of power. 
07 

    
Q.5 (a) Explain meaning of power factor.Name the methods of improving power 

factor and explain any one. 
07 

 (b) Explain how I-ɸ wattmeter can be used for measurement of 3-ɸ power and 

power factor. 
07 

  OR  

Q.5 (a) State and explain disadvantages of poor power factor. 07 

 (b) State and explain the causes of low power factor. 07 
 

************ 

ગજુરાતી 
પ્રશ્ન. ૧ અ ડીસી સસસ્ટભ ઩ય એ.સી. સસસ્ટભ રાબો સભજાલો. ૦૭ 

 બ નીચેના ઩દો સભજાલો: 
(૧) ત્લરયત ર િંભત              
(૨) સયેયાળ ર િંભત 
(૩) ઩ાલય પેક્ટય 
(૪) પેઝ ડીપયંસ અથલા પેઝ એંગર 
(૫) આયએભએસ મલૂ્મ 
(૬) આલતતન 
(૭) પોભત ઩રયફ઱ 
 

૦૭ 

    
પ્રશ્ન. ૨ અ શદુ્ધ પ્રસતયોધ  સર િટ ભા,ં પ્રલાહ એ આ઩ેરા લોલ્ટેજ સાથે પેઝભા હોમ છે તે 

સાબફત  યો. 
૦૭ 

 બ 20 ઓહ્મનો એ  પ્રસતયોધ , 0.2 H નો પ્રેય   અને100 μFનો એ   ે઩ેસસટય 
શ્રેણીભા ંજોડામેરા છે. તને ે220V, 50 હર્ટતઝ I- ɸ એસી પયુલઠો આ઩લાભા આલે 
તો નીચેના ઩દોની ગણતયી  યો: 
 ૧) યીએક્ટંસ 
 ૨)  ઇમ્઩ીડસં 
 ૩) ઩ાલય પેક્ટય 
 ૪) પ્રલાહ 
 ૫) એક્ટીલ ઩ાલય 
 ૬) યીએક્ટીલ ઩ાલય 
 ૭) એ઩યન્ટ ઩ાલય 
 

૦૭ 

  અથવા  

 બ I-ɸ શદુ્ધ પ્રસતયોધ  સય ીટ ભાટે P=I
2 

R સાબફત  યો. ૦૭ 
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પ્રશ્ન. ૩ અ શ્રેણી યેઝોનન્સ અને સભાતંય  યેઝોનન્સ લચ્ચે સયખાભણી આ઩ો. ૦૭ 

 બ સભાતંય યેઝોનન્સની ઘટના સભજાલો. ૦૭ 

  અથવા  

પ્રશ્ન. ૩ અ 2 ઓહ્મનો પ્રસતયોધ અને 0.01H પ્રેય ની પ્રેરયત સય ીટભા ં250V, 50Hz જોડાણ 
આ઩લાભા આલે તો  ેટરી ર િંભતનો  ે઩ેસીટન્સ  સભાતંયભા મ ૂલો જોઇએ જેથી 
યેઝોનન્સ ઉત્઩ન્ન થામ?જોડાણભાથંી ખેચલાભા આલતા કુર પ્રલાહ અને 
સય ીટની ળાખાનો પ્રલાહ ળોધો. 

૦૭ 

 બ Q- ઩દ સભજાલો અને તે  મા ઘટ ો ઩ય આધાય યાખે છે? ૦૭ 

    
પ્રશ્ન. ૪ અ I-ɸ  સસસ્ટભ ઩ય 3-ɸ સસસ્ટભ રાબો સભજાલો ૦૭ 

 બ 3-ɸ સ્ટાય જોડામેર સસસ્ટભભા ંરાઇન અને પેઝ્ના  યંટ અને લીજદફાણ લચ્ચેનો 
સફંધં તાયલો તથા ઩ાલયનુ ંસભી યણ તાયલો. 

૦૭ 

  અથવા  

પ્રશ્ન. ૪ અ એ  સ્ટાય જોડાણ લાળં ઩યાલસતિત  ડેલ્ટા જોડામેર રોડને પયૂલઠો આ઩ે છે. રોડ  
ળાખા નો ઇમ્઩ીડ્નન્સ (8 +  J6) ઓહ્મ / પેઝ છે.  રાઇન લોલ્ટેજ 230V છે તો 
નીચેનાની ર ભત ળોધો. 
૧) રોડ ળાખાનો પ્રલાહ 
૨) રોડ દ્વાયા લ઩યાતો ઩ાલય 
૩) રોડનો ઩ાલયપેક્ટય 
૪) રોડનો યીએક્ટીલ ઩ાલય 

૦૭ 

 બ 3-ɸ ડેલ્ટા જોડામેર સસસ્ટભભા ં રાઇન અને પેઝ્ના  યંટ અને લીજદફાણ 
લચ્ચેનો સફંધં તાયલો તથા ઩ાલયનુ ંસભી યણ તાયલો. 

૦૭ 

    
પ્રશ્ન. ૫ અ ઩ાલય પેક્ટયનો અથત સભજાલી ઩ાલય પેક્ટય વદૃ્ધદ્ધ ઩દ્ધસતઓ રખો અને  ોઈ ઩ણ 

એ  સભજાલો. 
૦૭ 

 બ 3-ɸ ઩ાલય અને ઩ાલય  પેક્ટય ભા઩લા ભાટે I-ɸ  લોટભીટયનો ઉ઩મોગ  ેલી 
યીતે થામ છે તે સભજાલો. 

૦૭ 

  અથવા  

પ્રશ્ન. ૫ અ ઓછા ઩ાલય પેક્ટયના ગેયપામદા રખી જણાલો.  ૦૭ 

 બ ઓછી ઩ાલય પેક્ટય ના  ાયણો આ઩ી સભજાલો. ૦૭ 

 

************ 


